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a. Whatis the value and direction of the current in the 8 Q resistor?
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If €2 =30V, What is the value of € 1?
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The potential difference between points Va-Vb =24 V. ia

a. Calculate the current in the 1 Q resistor. l
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b. Calculate the power dissipated in the @ resistors
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In the circuit shown in the figure, the capacitor is initially uncharged. At t = 0, switch S is closed.

€=9V,R=15Qand C=60 pF.

a. What is the voltage across the resistor 50 ps after the switch is S &
closed?
3 o i E_ e t/-(RL : £ e}
-~ Yhe

= & e A
= B prwg/n’é - 0.0S6

ISx 60

-9 e -9 e - 8.5V

V- a.sv)

b. Atwhat time is the charge on the capacitor one-third its maximum value?
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